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Do Now: Simplify each expression.

L 2y 4754 2y-12 2. 10g—18h—23g - (~22h)
3. x+y+2y—y 4. (x+y)-(x-y)
335
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Properties of Equality-d et a, b, and ¢ represent real
numbers

Reflexive Property: a=a
2+2 =2+t

Symmetric Property: If a=b, then b = a.
I Xy

C AT

TS N%::B\A""—\ Hrar dx+4 = ¥
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Properties of Equality-d.et a, b, and ¢ represent real
numbers

Transitive Property: Ifa=0band b=c, then a=c.

N
Ts 3+5=%)avd (I 4D Hrar 345 = U()

Substitution Property: If a = b, then b may be substituted
for a 1n any expression to obtain an
equivalent expression.
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Addition Property: Ifa=b,thena+c=b+c

X-¥ = \2
te 4+

Subtraction Property: [fa=b, thena-c=b-c.

X+ =\L
— -
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Multiplication Property: Ifa=Db, then ac =bc

a_b

Division Property: Ifa=band C # d Jthen — =

cC C
2S¢ =12
= X
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A solution of an equation
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Solve each equation. Check your answers.

L. 4(m+9):—3 m—4)

NA =2 .
oA +3L = -2 +12 Dist.
+23m 2B A2 Bm to @ndn 9id¢
T+ 3 T 1T
_ Subtre cd AL Froe~
"3k e eacin S0
v = —24 D ou T

7 i, —
m="22 4(F+9) = -3(F —4)
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Solve each equation. Check your answers.
2. 2\(&)/;3)4—6:70 ek
9\\1) *_LO + B =)o Tavcrme e oy +

W =770 PN, Prop
u=3> a(3%-2») +u =770
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Solve each equation. Check your answers.

3. 5(1-3m) = 30 - 2(4m + 7)
-2~ -~ Dis+ .

6-\6m=3_t_>_“<'m“_"’* Gomnvsina. | \ee

Acmm
5-19%= e - €
-6 -5 Sw‘:ﬂ’/- PR
-19m = =&~
~+ me\ 1 ¥ M AdS  prog
"_% = |___7 Div prop

10
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4. The formula for the surface area of a rectangular prism

¢ units long, w units wide, and h units high is
A= 2(€w +Lh+ wh). Solve the formula for w.

A= 2 (Lw+ L+ oD

A= 94 + 99Wn 2
-\ -RAQA\

—_ -

A-29WNW= © ~

A-20n= w h)
(22+2 1S rzij:}

A-29~
Y 2+ 2~ - \‘\’\

11
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Solve X + 8 = b for x. Find any restrictions on a and b.

a
X Subtract both <\ Lo,
—_— -
. at&=b by € ond mulhply
A Y o~ b o
(Z)"'(b)_(?) 2xvy fenos by

4> 1¢olade X H4eem.

12
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6. The formula for the area of a trapezoid 1s 4 = %h(bl +b,).

Solve it for . Using the correct terminology explain
how you solve for x.

S
Z@A-"2h o te2) Mulhply bothh sike o€

- + b ?%uai’fm |~ 2. and
an = (b, 2_> 4he ~ divide both svden

h
I~ A 'o-(- (1ua-hw\ ‘oU\ \"\
A\ = b+ b2 To t1golale o, WOoW

- o Subtrack by Eroan

- b2
_%Tp,_\ol: b, \ostn S1ass of grepmatnbey

h¥% O

13
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7. Solve the equation of x: ax +bx -15=0
Using the correct terminology explain how you solve for x.
G X+bx -15=0 Suotradt IS frvm buth sy O

+15 + (S of o (1“,,4-7\,0, gt ow\
X +bx = 15 X fron~ \cbr side ot ther
X[+ = 1S Auidc both s1der A eguotaon
(6+6)  (atb)  (44b)
s
A= ‘ Gih=0 O+b=0

Cx-b b -6~

14
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8. Using Ratios. The sides of a quadrilateral
are 1n the ratio 1:2:3:6. The perimeter 1s138 cm.
Find the lengths of the sides.

15
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9. A plane takes off and flies east at a speed of 350 mi/h.
Thirty-five minutes later, a second plane takes off from the same
airport and flies east at a higher altitude at a speed of 400 mi/h.
How long does it take the second plane to overtake the first plane?

16
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10. The sides of a triangle are in the ratio 12:13:15.
The perimeter 1s 120 cm. Find the lengths of
the sides of the triangle.

17



handout 1.3 template.notebook September 02, 2015

11. Adrian will use part of a garage wall as one of the long sides
of a rectangular rabbit pen. He wants the pen to be 3 times as long
as 1t 1s wide. He plans to use 68 ft of fencing. Find the dimensions

of the pen.

18



handout 1.3 template.notebook

Assignment:

Day 1: 1.3 Pgs 21-23 1-27 odds, 37-47 odds,
55-63 odds

September 02, 2015

19
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